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“She wants him to tell her the whole truth”

65.A Wanting someone to do something: 4to6bI + Past
Tense
65.6 More on marriage verbs

Owuanoru

pammaTtuka

OHa xou4eT, 4TOObI OH cKa3an ew Bcto npaBay She wants him to tell her the whole truth

Hpa 1 | Kak Te6¢ HpaBUTCS Kype (DpaHITy3CKOTO SI3BIKA? How do you like your French course?

Jennc 2 | S npocTo B BocTOpre OT HEr0. MBI YnTaeM I love it. (I'm in ecstasy over it.) We're reading
3 | HOTPSICAIOIIMIA paccKas. a fantastic short story.

Hpa 4 | O uyém naér peun? What’s it about?

Jennc 5 | Peub unét 06 onHOI amepukanke, Cape, kotopast | It’s about an American (female), Sara who
6 |pemrina onvH ceMécTp yunuThes B [laprke. OnA decided to study for a semester in Paris. She
7 | y3HaéT, uto e€ Apyr B AMEpUKE eil u3MeHsieT. finds out that her boyfriend in America is

cheating on her.

Hpa 8 | Kakoit momném! What a scoundrel!

Jennc 9 | Ona x04eT, YTOObI OH CKa3aJl el BCIO NMPABAY, She wants him to tell her the whole truth. She
10 | 9TOOBI OH MPHU3HAJICS. wants him to confess.

Hpa 11 | 51 6B1 TOXE XOTENA, YTOOBI MOM JPYT HUYETO HE I wouldn’t want my boyfriend to hide anything
12 | CKPBIBAJ OT MEHS. from me either.

Hennc 13 | A y Heé B [laprke HOBBIH npyT, (ppaHIy3. She has a new boyfriend in Paris, a French guy.

Hpa 14 | 3HAYUT, OHA TOIKE UBMEHSIET APYTY. So, she’s also cheating on her boyfiiend.

Jennc 15 | A e€ HOBBIH Ipyr X04eT, 4TOOBI OHA OpOCHITa And her new boyfriend wants her to dump her
16 | mpyra-aMepHuKAHIIA. American boyfriend

Hpa 17 | OH eif mpsiMo cKka3aj, 9TOOBI OHA erd OpoOcHiIa? Did he tell her directly to dump him?

Jennc 18 | He coBcém. Ho oH eif ckasam, 4To OH XO4eT, Not exactly. But he told her that he wanted her
19 | 9TOOBI OHA ocTANack Bo Opaniuu emé Ha oJuH to stay in France for another semester. Her
20 | cemécTp. A e€ poauTenn BOOOIE He XOTSIT, UTOOL | parents didn’t want her to study in Paris in the
21 | ona yunnace B [Taprke. Ouu ObuTH IPOTUB 3TOTO. | first place. They were against it.

Hpa 22 | A 9TO OHH XOTHT, UTOOBI OHA Aénana’? What do they want her to do?

Jennc 23 | Onn, HaBéPHO, XOTENH, YTOOBI OHA OCTAJIACH B They probably wanted her to stay in America, in
24 | Amépuke, B [IprHCcTOHE. MOXKET OBITH, OHU Princeton. Maybe they wanted he to get
25 | xoTénu, 4TOOBI OHA BBIIIA 3AMY:K 3a POOepra, e€ | married to Robert, her American boyfiiend.
26 | mpyra-aMepuKaHIA.

Hpa 27 | A PoGepT xOUeT KeHNThCsl Ha Hei? Does Robert want to marry her?

Jennc 28 | MbI He 3HaeM. Ho MbI 3HaeM, YTO OH TOXKE HE We don’t know. But we do know that he didn 't
29 | xotéin, uTO0bI OHA yuniack B [laprike. want her to study in Paris either.

Hpa 30 | A xak TeI gymaentb, Capa u e€ ¢ppaHIy3 What do you think, are Sara and her French
31 | moKéHATCA? (boyfriend) going to get married?

Jennc 32 | Bpéms moka:ker. Time will tell.
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pammaTuka 65-1 ypok

CHOBapb (Today’s CnoBapb contains a number of words found in previous dialogues and sections of the story.)

4 | peub uaer o + PREP the thing/story/conversation is about ... (lit.: the talk/speech is about ...)
6 | {y3Hail+/ y3HaBaii+} // y3Haii+ find out; recognize
7 | m3mensii+ // msmenn+ + Dative cheat on somebody (lit.: this verb + Accusative means change)
(person cheated on)
9 | 9To0HI ... (note unstressed) in order that ...; such that ... (See Section 65.A)
10 | {npu3Haii+ ...cs / NpU3HaBaii+...cq} // | confess
MPU3HAH+...CS
12 | CKpbIBal+ // {CKpO¥i+ / CKpBI+} conceal; hide (transitive)
13 | dpaniys / ppaHIiry)en/ka (0) French male / female
17 | IpsSIMO directly; straight (with regard to direction)
npsAMOi direct; straight (*Note difference in stress between adj and adv)
18 | HE COBCEM not exactly (lit.: not completely)
19 | {ocraii+"...cs1 / ocTaBaii+...cs}// stay, remain
OCTAaH+...CS
25 | BBIXOAH+ // BRI+ 34MYK 33 K020 marry (said of a woman) (See Section 65.B for all marriage verbs)
(Perf Past: Brrmern, Beinia; Inf:
BBIUTH)
27 | KeHH+...csL HA KoM marry (said of a man)
31 | KeHH+...cs1 // Tmo- marry (said of a couple)
32 | BpéMsl IOKAXeT time will tell (Lit.: time will show)

[65.A Wanting Someone To Do Something: YTo6bI + Past Tense

e Sara wants Robert to leave her alone: English vs. Russian

In the sentence Sara wants Robert to leave her alone “Robert” appears to be the Direct Object of want. (You can
confirm this by using pronouns, which would give the sentence She (Nom) wants him (Acc) to leave her alone.
But if you think about it, “Robert” is also the Subject of leave alone in the lower clause (he’s the one who’s going
to be performing that action). So, in this very common English construction “Robert” has two distinct
grammatical functions; 1) Object (of the upper clause) and; 2) Subject (of the lower clause). Such a situation is
not normally tolerated in Russian, mostly likely because grammatical functions are marked overtly with case. A
noun cannot be simultaneously marked with more than one case in Russian.

OK in English / Impossible In Russian (usually)

| l l |
Object (Acc) Subject (Nom)
Sarah wants — Robert <— to leave her alone

If you really think about it, it isn’t Robert that Sarah wants (in fact, he’s the last thing she wants). What she wants
is the situation where Robert (he - Nom) leaves her alone, which would lead us to predict that in Russian “Robert”
is going to show up in the Nominative. And indeed that’s what we get. Read on.
I
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65-1 ypok pammaTtumka

¢ The Construction: XotéTtb 4TOo6bI + Subject in Nominative + Past Tense

To render sentences such as / want you to open the window, He wanted me to buy him a new car, She wants use to
leave, etc., Russian uses the normal verb for want (irregular xoTéTs) followed by the conjunction uto6s! (lit: in
order; such that) followed by the verb in the past tense. This doesn’t have a past meaning at all — it’s “tense-
neutral” just like in the previous 6bI constructions we’ve had. The subject of the lower clause is in nominative (as

expected). Being a word that simply links both clauses, uTo6bI has weak or no stress.

Some examples of xoTéTb + YToObLI + Past:

MAIN CLAUSE, WITH | YTOBbI SECOND CLAU1§IE’ WITH
XOTETH SUBJECT IN NOM &
(unstressed) VERB IN THE PAST
Capa xouer, YTOOBI Po6Gept ckazan el Bcro Sarah wants Robert to tell her the whole
MPABIY. truth.
A xouy, YTOOBI THI YIILIA. I want you to leave.
Bce xoTénm, YTOOBI Murts xenuics Ha Cape. Everyone wanted Mitya to marry Sarah.
MoW poauTeNn HE XOTAT, YTOOBI sl UTPATT B aMEPUKAHCKHIA My parents don’t want me to play
¢byTo06I. Jootball.
Harémra xoténa, YTOOBI e€ poANTeNHN KyIIHIH e Natasha wanted her patents to buy her a
HOBYIO MaIlliHy. new car.
Yto ThI XOUeEIlb, YTOOBI s cnénan? What do you want me to do?

e One Case (Function) Limit Per Noun

As mentioned above, in general Russian does not tolerate Nouns being assigned more than one grammatical
function (i.e. Case). We saw an example of this when Linda reported about what she saw at Cloister:

5] Brjena, Kak OHM LIEJIOBAINCE I saw them kissing.

Once again, in English we see a word (here: them) acting as both Direct Object (of see) and Subject (of “kissing”).
In this particular grammatical construction, Russian uses kak to “absorb” the Accusative Case of Biigena. As
expected, the true subject of the lower clause (the “kissers”) appears in the Nominative in Russian. We’ve now
seen another way (4To0s1) that Russian deals with the problem of “one Noun — two grammatical functions”. And
later in the course we’ll discuss two other strategies. The point here is that such a situation would create “Case
overload,” an entirely unacceptable situation in Russian.
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e XoTétb is not always followed by 4TOGbI

Remember, the verb xoTéTh may be followed by a bare infinitive when the subject of both clauses is the same
person. If the subject in both clauses is the same person, you cannot use utodb1. So sentences like A xouy,
yT00BI 51 / Cama xo4er, uroObl oH (Cama)... are impossible. Examples of “plain” xoTéTh + infinitives:

OH HE XOYeT TOBOPUTH MO-PYCCKH. He doesn’t want to speak Russian.
S xouy xuth B [lerepOypre. I want to live in Petersburg.

Krto x6uer TaHIeBATH? Who wants to dance?

MB&I XOTéMHN 3aHUMATHCS B OMOIHOTEKE. We wanted to study in the library.

% Say that PERSON wants PERSON to do VERB

1. 51 // ond npunéc+ TopT 2. Kro // MBI cTos+ Ha OankoOHe?

3. Mgl // onni ocTaH+...c1 B MoCKBé 4. Bépa// e€ npyr npu3HAii+...cs

5. Omnn// s (Bépa) 6pocu+ bopro 6. Bonons // ero orén kynu+ emy Mepcenéc
7. Bce // mpodéccop He KA+ 8. ID'pvima // JIapa ucnék+ 9€pHbIi X1

9. Huxkto // Te1 (B41WK) ChEeCTh BCIO MUY 10. Te1 // oH nénaii+?

e When the PERSON in the second clause is in a Case other than Nominative

You can also use uTo6bI plus the past (normally 6b1710) in many of the “experience” constructions we learned,
where the “subject” appears in dative:

OH x04eT, 94ToOBI el OBUTO XOpOoIIo. He wants her to feel good.

MpbI XOTUM, 9TOOBI T€OE TOHPABUIICS (QUITHM. We want you to like the film. (We hope that you like
the film.)

51 He xouy, 4T0OBI TEOE OBUIO CKYYHO. I don’t want you to be bored.

@ Translate into Russian. The PERSON in the second clause will not be in the Nom:

1. Idon’t want you to be bored. 2. He doesn’t want her to be too cold.
3. We want you to like the book. 4. Nobody wants you to be sick (feel bad).
5. The professor wants the students to be interested. 6. Idon’t want it to be too hot in here.
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65-1 ypok pammaTtumka

l| 65.6  More on Marriage Verbs ||

We’ve seen bits and pieces of the verbs meaning get married, so now let’s look at the whole picture (and it ain’t
so pretty). There are 2%2 verbs that are used: 1 for women and 1'% for men and couples:

X r o - - ” .
e Women: Bbixoaun+// {Bbina+ / Bbiwna} 3amyx 3a koro (Accusative)
The Infinitive of the Perfective is BBIATH.

If the wedding is in the near future, you can use the Imperfective, just as in English the Present Tense is getting
married can be used for a near future event. In the last example below (with Sara) the Perfective is used because
the event (if it were to take place) is not in the near future. (Sorry, no hints here about what’s going to happen in
the story.) The “near future” use of the Imperfective applies not only to all the marriage verbs discussed here, but
also to a number of other verbs. More on this later.

Mos cecTpa BRIXOIUT 3aMYyk 3a podéccopa u3 My sister is getting married to a professor from
I'apeapna. Harvard.

K¥ipa BEIIIITa 33aMy’K B TIPOIIIOM TOIy 32 OHOTO OueHb Kira got married last year to a really rich but stupid
0OoraToro, HoO OYCHb IIIYIIOTO YEIOBEKA. guy.

JIuz THimop, KaxeTcs, KKy HEIETIO BEIXOIUT Liz Taylor, it seems, gets married every week.
3AMYXK.

Kak Te1 1ymaems, Capa BEIAACT 3aMyK 32 MUATIO? What do you think, is Sara going to marry Mitya?

OHA xOYeT BEIMTH 3aMYXK 3a U3BECTHOTO Mpodéccopa.  She wants to marry a famous professor.

Strange but true: With the interrogative kro, a Masculine form of the Verb must be used, even though you
know that the answer is Feminine. The rule that kTo must take a Masculine Singular Verb is inviolable.

Kto ObI BBIIIEN 3AMYK 3a TaKOTO MO yIena? Who would marry such a scoundrel?

X agm
e Men: xeHu+...cs1 Ha KoM (Prepositional)

When describing a male, the verb :eni+...cs is both Imperfective and Perfective, so the exact tense of the Non-
Past form is potentially ambiguous. But given what we said above about the Imperfective being used for near
future actions, this doesn’t really cause much confusion.

Moii ctépiuii 6pat KEHUJICS Ha OYCHb My older brother married a really boring woman.
CKYYHOU JIEBYIIIKE.

Moii g5 XOUeT JKEHATHCS Ha 00TaToM’ My uncle wants to marry a rich woman.
JKEHIIMHE.

Kax b1 gymaenib, Muts xénurcs Ha Cape? What do you think, is Mitya going to marry Sara?
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___________________________________________________________________________________________________________________________]

e Couples: XKeHW+...cs // no- (with no complement)

g o b3 . X
When describing couples, the verb :xenu-+...cs1 does have a Perfective form, mo:kenu+...cst

OHY TIOKEHATCS B MApTe. They are getting married in March.

[Touemy onrt mosxkeHmuch? OHA Oe3 KOHIA Why did they get married? They 're constantly cheating on
WU3MEHSIFOT IPYT APYTY. each other.

B Amépuke MHOTHE XKEHATCS B HIOHE. In America a lot of people get married in June.

@ Say that the people got / are getting / will get married to whom:

1. Bamux / Mos cectpa (Past) 2. Bépa/ mnoxo6ii akrép (Present/Future)

3. Haramra u bops / B méae (Past) 4. Tans/ou (Future)

5. Murs / ona (Present/Future) 6. Mos cectpa / ero msins (Past)

7. Moii nsins / e€ téra (Present/Future) 8. Koust u Prita / B mpOUIiom roay

9. Moit npyr / crpaunas nésymka (Present/Future) 10. Most 6riBas moapyra / mpesunéut Kauansr (Past)
11. Hiina u Cépa / Ha cnényromeii nenéne (Future) 12. Mos téts / 6énublii Bpau (Present/Future)
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65-1 ypok

25 YnpaxHéHue 1

25 YnpaxHéHue 2

1.

JomawHee 3apgaHue

List 3 things that either you want someone else to do, or that someone (say,

your parents) want / wanted you to do:

Konsa

Fill in the blanks with a marriage verb that makes sense:

Tan B IPOIIIOM MApTe.

Onn

4yépe3 MECSIL.

Harama xouer

oorar YEeJIOBEK

Eroé Téts mecth pas

Korna tBoit ganas

B npo6miom rogy Marma

Ha Bopric
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65-n ypok — [lomalwiHee 3agaHue Nma

2<  Ynpaxnéuue 3  Translate into Russian:

1. I found out that my wife is cheating on me (Case!/). What a swine!

2. I want her to confess. She wants me to forget about it.

3. She told me directly that she wasn’t hiding (think about tense!) anything from me.
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